MAMIBIA UNIVERSITY
OF SCIENCE AND TECHMOLOGY

FACULTY OF MANAGEMENT SCIENCES

DEPARTMENT OF MARKETING AND LOGISTICS

QUALIFICATION: BACHELOR OF LOGISTICS AND SUPPLY CHAIN MANAGEMENT

HONOURS

QUALIFICATION CODE: 08HLSCH

LEVEL: 8

COURSE: FINANCIAL TECHNIQUES FOR
LOGISTICS MANAGEMENT OPERATIONS

COURSE CODE: FTL 821S

SESSION: NOVEMBER 2019

PAPER: THEORY AND PRACTICAL

DURATION: 3 HOURS

MARKS: 100

FIRST OPPORTUNITY EXAMINATION QUESTION PAPER

EXAMINER Mr. T. Nakweenda (UNAM)

MODERATOR: | Mr. Johannes Ndjuluwa (UNAM)

INSTRUCTIONS

Answer all questions.

il

Number your answers accordingly.
The use of PV and FV tables attached as appendix is permissible.

Round your final answers to two decimal places wherever applicable.

THIS QUESTION PAPER CONSISTS OF 6 PAGES (including this front page)




Question 1 (10 Marks, 18 Minutes)

Suppose you have been appointed as an intern responsible for financial matters at Logistics
Management Ltd (“LM”). LM’'s Managing Director has been reliably informed that you are an
expert when it comes to financial matters. You are required to assist him understand each of the
following questions.

REQUIRED: Be concise as much as possible. MARKS

1.1. | In your own words, define the term finance (a) at a personal level, and (b) 3
in a business context.

1.2. | Describe the goal of the firm clearly explaining why maximizing the value 3
of the firm is an appropriate goal for a business.

1.3. | Identify two common legal forms of business organizations and clearly
distinguish how such identified legal forms of business organizations are
different from one another in terms of their respective liability.

TOTAL MARKS 10

Question 2 (30 Marks, 54 Minutes)

This question is divided into two parts, namely: 2.1 and 2.2, which are independent of each
other. Each part should, therefore, be answered in the context in which it has been asked. Any

assumptions made should be clearly indicated as such.

2.1. (18 Marks, 32 Minutes)

Analysis of Annual Financial Statements (“AFS”) is one of the critical tasks performed by
financial analysts. Companies A and B (“Co. A and Co. B") are competitors in a manufacturing
industry. The two companies have been rivals almost for five years now. Mr. Simon is a
potential investor who is uncertain as into which of the two companies he should invest. You
have been provided with the following information in respect of the two companies:

N$ N$

Note Co. A Co.B

Sales 1 250 000 | 235000
Cost of sales 195 000 | 180 500
Operating expenses 20000 | 18000
Total current assets 2 150 000 | 145000
Total current liabilities 110 000 95 500




1. 60% of Co. A sales is on credit, while Co. B has a policy of 50% credit and 50% cash.

2. 10% of Co. A total current assets represent inventory. This is one percent more compared to
Co. B. Accordingly, the two companies’ Accounts Receivable amount to 20% and 18% of
their total current assets, respectively.

3. Assume a 360 days calendar year.

REQUIRED: Clearly show all your workings wherever applicable. MARKS

211, For each company, calculate the following financial ratios:
a. Current ratio

b. Quick ratio 10
c. Gross margin ratio

d. Average Collection Period (“ACP”)

2.1.2. Critically comment on each of the ratio calculated in 2.1.1. In your
discussion, clearly indicate to which ratio category such a ratio belongs. It

2.1.3. On the basis of Quick ratio and ACP, which one of the two rival
companies would you recommend to Mr. Simon? Briefly explain your 1
answer.

TOTAL MARKS FOR 2.1. 18

2.2. (12 Marks, 22 Minutes)

Lack of housing is one of the daunting tasks among professionals. Though the current economic
situation seems to have led to a drop in property prices, the majority of professionals are still
finding it hard to buy a property. Ms. Kadhepa is one of such professionals. She has been
renting almost close to twenty years now. Being in her late 50s, she has recently applied for a
mortgage bond at FNB Home Loans, and she was provided with the following information:

¢ Qualified amount N$ 1 500 000 @ 10% p.a.

e Repayment period 10 years

e Deposit 0%
REQUIRED: Clearly show all your workings. MARKS
2.2.1. | Calculate the yearly instalment that to be paid by Ms. Kadhepa. 1.5

2.2.2. | Prepare an Amortization table clearly showing the: instalment; capital;

interest and end balance. 9.5




2.2.3. | What constitutes the instalment amount? 1

TOTAL MARKS FOR 2.2. 12

TOTAL MARKS FOR QUESTION 2 30

Question 3 (15 Marks, 27 Minutes)

Namib Breweries Ltd (“NB”) has 100, 8% bonds in issue with a nominal value of N$1000 each.
These bonds will be redeemed in four years' time at their nominal value. Similar bonds currently
trade at 12% per annum in the general market. As a current practice, coupons are paid
annually. Given your expertise in financial techniques, suppose you have been hired by NB to
serve as their market consultant. The Managing Director (“MD”) of NB has requested you to

assist with the following calculations:

REQUIRED: MARKS

3.1. | Compute the present value of NB'’s bond based on the current practice. 3.5

3.2. | Suppose NB’'s MD is of the opinion that it would be cheaper to pay
coupons on a quarterly basis. Do you agree with the MD? Show all your 6.5

workings.
3.3. | Identify four features associated with a bond. 5
TOTAL MARKS FOR QUESTION 3 15

Question 4 (15 Marks, 27 Minutes)

Making an informed investment decision is one of the essential tasks more especially in the
current economy. Investors are inclined to first assess every risk which might be associated with
their respective investment. Assume that you are a financial analyst at one of the local equity
brokers. Suppose you have predicted the following returns for shares A and B in three possible
states of the economy:

Share type
State of economy Probability A B
Boom 0.50 0.15 0.20
Normal 0.30 0.10 0.15
Recession ? 0.05 0.02

A risk averse potential investor would like to invest in either of the two shares. Generally, a
typical risk averse investor would monitor closely the risk associated with his investment. In the

event where a mutually investment is yielding the same returns, a standard deviation is used as

3



a basis of such a decision. Assume that the two shares are mutually exclusive, and they belong

to an industrial sector.

REQUIRED: Clearly show all your workings. MARKS
4.1. | Compute the expected returns for each share. 4
4.2. | Compute the standard deviation associated with each share. 5

4.3. | On the basis of standard deviation, which one of the two shares would you

recommend to the prospective risk averse investor, and why? 3

4.4. | Suppose the risk averse investor decides to invest 60% of his funds in your
recommended share as per 4.1.3, and 40% in a ‘different sector’. What do 3

you think will happen to the standard deviation of such a portfolio?

TOTAL MARKS FOR QUESTION 4 16

Question 5 (30 Marks, 54 Minutes)

This question is divided into two parts, namely: 5.1 and 5.2. The two parts are independent of
each other. Each part should, therefore, be answered in the context in which questions thereof
have been asked.

5.1. (18 Marks, 32 Minutes)

According to the Namibia Statistics Agency (NSA) Labour Force Survey of 2018, the country
has witnessed enormous retrenchments. The most affected sectors are construction, fisheries
and agriculture. This has contributed to the already high rate of unemployment in the country.

As a remedial measure, graduates are encouraged to venture into entrepreneurship.

As a Logistics and Supply Chain Management expertise, suppose you have secured funding of
N$ 100, 000 from the Development Bank of Namibia. This was after you provided them with a
detailed business plan, which as a result; convinced them about your proposed business

acumen.

You intend to invest part of this funding either in a Shuttle business or Car wash business.
According to market research, the two businesses have similar business risk. Suppose you
decide to invest 80% of your funding in either. Shuttle business (“SB”) would result in annual
cash inflows of N$ 25 000 in years 1 through year 5. On the other hand, the Car was business
(“CwB”) would result in annual cash inflows of N$ 23 000 in years 1 through year 5. All the two
prospective businesses have equal economic useful lives of five years. All the above mentioned



cash inflows are assumed to be adjusted for depreciation. Assume a cost of capital of 12% per

annum.

REQUIRED: Clearly show all your workings. MARKS

5.1.1. | Apart from the secured funds from DBN, under each proposed project,
identify two factors that you should consider before attempting to venture 6

into it. Be realistic as much as possible.

5.1.2. | Which one of the two proposed projects should be chosen on the basis of
the following techniques:
a. Net Present Value (NPV),
b. Pay Back Period (PBP), your answer should be expressed in years,
months and days. 12
c. Based on your answers in (a) and (b), are there any conflicting

recommendations. If so, which of the two techniques would you opt

for and why?

TOTAL MARKS FOR 5.1 18

5.2. (12 Marks, 22 Minutes)

Proper inventory management is key to every business. Thus, if poorly managed, a business
may encounter serious cash flow problems. Suppose you have been appointed as Procurement
Manager at Community Bakery Cc (“CB”). CB bakes bread daily for a school feeding project. It
purchases flour in 50 kilograms bags at N$250 per bag and uses 400 of these bags every
month. The cost of placing an order per bag is N$5.50, and the administrative cost per bag is
N$4.50. Storage cost is N$9.60 per bag per annum. Assume a 360 days calendar year.

REQUIRED: Compute the following: MARKS
5.2.1. Economic Order Quantity (EOQ). 4
5.2.2. Number of orders that should be placed per annum. 2
5.2.3 Total; ordering and holding cost per annum. 3
5.2.4. Total annual inventory cost based on the given information. 3
TOTAL MARKS FOR 5.2. 12
TOTAL MARKS FOR QUESTION 5 30

... END OF QUESTION PAPER ...
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